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W ITII the. exception af cases wher. very long terni boudsare issued on securities thnt have more or Jasa un-
,changeable value and where it is contemplated thnt new bonds
will b. issu.d ta take care of the. old ones when they fail due,
two general method.s of financing are usually followed. Firat,
the. indtividual usually gives a mnortgage on sanie security,
under an agreemnent that lie lill pay a certain amounit ai the.
liability each yenr with interesýt at the agreed rate aud inake
final aettlemient at the. end af the. terni oi the. mortgage; the.
second metiiod followed by municipalities, cities and a~ll
corporations is ta s;elI bonds bearing an agr.ed rate ofinl-
ter-est payable annually, the amaount of the bond becaining
due at the. end ai a Iirnit.d nurnber af yeara, usually varyîng
betireen 15 sud ;;0. Tii. municipality, city or corporation
prepare theniselves ta meet the. obligation by creating ai
sinking iund, that is, levying an amnount ai tax or aetting
aside an aniount. out ai the, business as the. case utay b.
whici, put out at intereat (usually ait a rate considerably
lower than the. rate of interest they are campelled ta psy
on the, bond), s0 titat at the end o! the. given period the. fund
thus cr.at.d willieb sufficient to meet the obligation.

The, writer believes tint a third metiiod-namirely, of
liquldatlug the, debt by equal annual paym.ents, would in geni-
er-al b. more satlsiactory and better adapted ta rural muni-
cipalities and small business concerna, who, iu a great mnnly
cases, do not have the, facilities or the. knowledge ta properly
haudle a sinking iund. This latter niethod wauld have the.
advanitage tint the. taxpayer or smail business muan would
tiot in genersi b. penalized on kaccaunt oi the. different rate
oi interest tii.y would have ta psy and what tiiey w'ould re-
ceive an a slnkiug !und, and the. iriter boliev.. itirtiier that
such banda woul in general command about as hilgi a price
as the. bond requiring a single paym.nt at the end oi the,
terni ai the. lii. ai bond, for the, reasan that the. liability
wouid b. constantly decreasing, therefor. the. aecurlty ai the.
baudiiolder would always b. gettlng saer and it would b.
enly carryng out a principle that la usually inslated on by
trust snd mortgage companies mien making loans ta ind[-
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The ternis of the. numerator anid 11W denominator of equa-
,1011 4(1) can be taken from opon jiitereet tables and
dividing tii numerator by' the denýTominaitor, "Il" cati be
found ta a výalue xtnigta tii. lifth or sixth decimial place.
The. converse of this probleni is flot such an easy one. Thnt
15, if you, had given a nunaber of equal annual payniefits to
liqutidate a debt of a given sutu, you couild find the value of
"1"' by dividing an annual payment by th(- total suin but
hav-ing given "11," it i.s flot so eas'y ta find out the. value of

"R"that i.s, the rate of interest that you are actually payinir.

Illustration of Method
To facilitate and explain this matter in general the.

writer bas prepared a " hart, which gives in the table the
Percentage of the. total debt ta b. pnid each year in 10, 15,
20, 257 and ;0 annual paytnents, at rates- of interest varylng
111 even p)erCentage-s froin 2- per (-ent. ta 10 per cent. By
plotting thua table as shoWn in the chart, we have a means
aIf determininr "RZ." Having given "P"and the number of
equal annual payments, it is very easy ta, determi. witi
a very 8111811 fraction, the. rate afi nterest that isbin8 pad

For insanc'e, if You lire paying $1,600 per yaur ta iqi
date a debt of $20,000, the peramutage paid each y.ar ol
be 8 per cent. Of the total debt. If the. agreement cle o

15 equal annual payments, youi would bc, payinig interest, ap-
proximiately, at the rate of 2.4 per' cent. If it iras 20 equal
ainnual paynelits, you would b. paying interest at the rate
af 4,94 per cent., 25 equal annual payments, intJrest would
b. 6.23 per cent., and if it wias :30 equal annual paymeiits the,
interest irould b. 6.94 per cent.

Take anlotiier example. Suppose a munlcipality sells a

20-year 5 per' cent. bond at par and arrange ta take care of
the debt by a sinking iund estirnated an a basis cf 3 per
cent. compaund interest. For every dollar sold the, tax-
payer wil1 have ta pay each year for 20-years, 5 cents as
interest and 2.72 cents ta sinking fund, or a total af 8M?
cents, which ia the, equivalent of paying about 6 per' cent.
for money, while if equal paymnent method was used, only
8.03i cents per dollar would have ta be collected. (in a
basis af the. above assoumptions, theý municipnlity could afford


